x 10

=10

MULTIPLY +

Help Code : 0]0

DIVIDE BY 10, 100, 1000

Here are six cards.

o] [

=100 } {+1000

Use a card to complete each calculation.

5.3

= 0.53

20

09 +10 =

1.28 x 100 =

100 x 100 =

11111

13

100 x 412 =



https://www.youtube.com/watch?v=aivYL3BYmXE
https://www.youtube.com/watch?v=GAxHTw3916c
https://www.youtube.com/watch?v=nAsQ3KT6aow
https://www.youtube.com/watch?v=QFWNXkNf9og
https://www.youtube.com/watch?v=P-HhD7APiqk

x ﬂ“d — Help Code : 010
By 10, 100 and 1000

2013A KS2 Q12 Y 2011A KS2 Q20
Complete these calculations. Here are five number cards.

N5 X 100 = ‘0.47J 10 } | 100] [1000} L4.07’
» 10 _ 1500 Use four of the cards to complete these calculations.
\ 47 = = |
+ 100 = 150
150 = 10 - % — 407
>\ )) N e
Extia, (Practice
[0 x 100 = 1230 [Bl 63 «x = 43
0.5 = 5000 x 1000 = 89300
562 X = 562 21 x 100 =
x 10 = 3.4 9.03 X = 9030
x 10 = 6 601 x 1000 =
B 508 x 1000 = 16 x 1000 = 70
7009 x 100 = x 100 = 8
B 781 x - 6781 B x 10,000 = 134.56
B o001 x = 001 |8 x 10 = 037
Il 17 x 1000 = 3.008 x 1000 =



https://www.youtube.com/watch?v=u60m30akKw4&list=PLS3PH82bo0VBN5y6ePJy8_v0zw611HJsJ&index=14
https://www.youtube.com/watch?v=aqYuZir4niw&list=PLS3PH82bo0VAkEKofuCdfPUAD5mwjbv5U&index=6

170+ 1000 =| | 63 = = 063
: 100 = 123 : 1000 = 89.3
50 = 05 21 + 100 =

562 = = 562 903 + = 9.03
2 10 = 3.4 601 + 100 =

10 = 6 1000 = 70
58 <+ 1000 = : 100 = 007
7009 + 100 = s 10 = 13456
678.1 = 6781 s 10 = 037
0.01 = = 0.001 30.08 + 1000 =
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